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When teaching curly arrows please make sure students follow the method as shown in the mark scheme left:
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NOTE: The arrow from the bromide ion can start from anywhere
on the Br ion (including the minus sign) or from a lone pair on
Br if shown

Curly arrow can go to the C or the + sign on the intermediate

TE for mechanism on the isomer identified in (c)(i) or either
mechanism if no major product has been identified in (c)(i)
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Question | Acceptable Answers Reject [ Mark
Number
18 (c) (i) H)(‘: "' 3
H—GE=e—H
H (1) for carbocation
d; (1) for arrow
r

(1) for both arrows

1% mark: half

Curly arrows must start from the bonds NOT the atoms arrow-

heads
3" mark:
Bromide ion must clearly have a 1~ charge to get this mark B
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